G+ G* 3G 5) - (5= 3f + 545 % =
(GG x5+ (G 5) - @+ g x5 3=
(6= 3P~ 5G+ - (43 -5 4=
(GPH9x gt - (5P +3)% 5 (5457 -
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1 3, 23 1 141 6l 3. 2 1 319 7
G+ G —9= o =g A+ 5y +s-5-21 = =26
277 75977 %0 " %0 2 T373 2 1

I o1, 2 1 1, 1 .1 49 5

— 4 (= i (=Y =— — I+ -+ S =37
GrENI*3TGE 73V =5 G +3 5 X 3= 35 =33
o1, 1 1 1, 1 3, 1, 3 1357 77
-+ (= —F+(=—=) = - 44+ ) ——x5——=_—"_=16—
G 3373730 7% @G 755573 )
11, 13 3 103 1, 1 1 ., 47 31
R S T A S5+ Y- —-—g2=2
(573 33737 Ogge) G307 7773 36 36
20, 1.1 1 1, 6l 1, 3. 1 1 1, 143
R4Sy — (= — =P = — R+ IYX —— (= =P = —
Gr+3*37G 777 = 300 Gr+3)*37G+3) =50
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